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MWSE 124(8AIZH 209 2018.12.05.(==) 09:00~18:00(8hr)
NO. il = o9 o A g4 s o
1 171 sS4 rax—kxxx—1108 302 =1t 2018.12.05
2 171 o8 = xrk—xkkx—20930 302 =1t 2018.12.05
3 11 = M4 rax—kxxx—5097 30% =1t 2018.12.05
4 171 204 rax—kxxx—5315 30% =1t 2018.12.05
5 11 3484 rx—kxxk—7674 302 =1t 2018.12.05
6 171 3= 4 rx—kxxx—2017 302 =1t 2018.12.05
7 171 =38 Z rax—kxkk—1657 302 =1t 2018.12.05
8 11 o ol A rax—kxxx—3754 30% =1t 2018.12.05
9 171 g el = rax—kxxx—(399 30% =1t 2018.12.05
10 171 osg rx—kxxk—7113 30% =1t 2018.12.05
1 11 3 8 rax—kxxx—0885 302 =1t 2018.12.05
12 171 o & 4 rax—kxxk—5479 302 =1t 2018.12.05
13 11 =T rax—kxxx—(0180 30% =1t 2018.12.05
14 11 432 *hk—kkxk—B472 302 =1t 2018.12.05
15 171 80 4 *kx—kkxx—9Q27 30% =1t 2018.12.05
16 171 3 2 & rax—kxxx—(328 302 =1t 2018.12.05
17 11 g s rax—kxxk—G762 302 =1t 2018.12.05
18 11 & a2 rax—kxxx—2333 30% =1t 2018.12.05
19 171 A rax—kxxx—5014 302 =1t 2018.12.05
20 171 & IS xx—kxxx—B8547 302 =t 2018.12.05
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MWE 12(8AIZH 209 2018.12.19.(=) 09:00~18:00(8hr)
NO. il = o9 o A g4 s o
1 27| o A= rax—kxxk—2379 30% =1t 2018.12.19
2 27| = N & rax—kxxk—5572 302 =1t 2018.12.19
3 27| oo = rax—kxxx—B8516 302 =1t 2018.12.19
4 27| A2 rax—kxxk—5151 302 =1t 2018.12.19
5 27| 3 &= rax—kxxx—5340 302 =1t 2018.12.19
6 27| g &g rax—kxxx—3060 302 =1t 2018.12.19
7 27| a8 *kk—kkxk—B6662 302 =1t 2018.12.19
8 27| o g = rax—kxxx—B8134 302 =1t 2018.12.19
9 27| gt & of rax—kxxk—(010]1 302 =1t 2018.12.19
10 27| R xk—xkkx—2 350 302 =1t 2018.12.19
11 27| 2= rax—kxxx—2500 302 =1t 2018.12.19
12 27| g =4 rax—kxxk—5011 302 =1t 2018.12.19
13 27| & &= rax—kxxx—B695 302 = 2018.12.19
14 27| s 9 dg rax—kxxk—7399 302 =1t 2018.12.19
15 27| g o= rax—kxxk—2678 302 =1t 2018.12.19
16 27| =z = 8 *ax—kxxx—3198 302 =1t 2018.12.19
17 27| ss4d rax—kxxk—5945 302 =1t 2018.12.19
18 27| = I 9 rax—kxxk—438]1 302 =1t 2018.12.19
19 27| 2 M= rax—kxxx—3830 302 =1t 2018.12.19
20 27| 4 =& xxk—xxxx—4245 302 =t 2018.12.19
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